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4325-A

ML.A. (Previous) Examination, 2016

ECONOMICS
Paper—V(A)
(Labour Economics)

Time : Three Hours
Maximum Marks : 100

PART-A (@UE-3) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.
gl 999 AfFad B YEE U # OIW 50 v
U sfs 7 8 Tl W 9% wHE E
PART-B (@ve-9) [Marks : 3G
Answer five questions (250 words each). selecting
one guesticn from each unit. All questions carry equal marks.
TAE TR U USH-UE 99 990 g0, ¥ Ui
T SIS Y&E WA ® S 250 Vi 9 fas T oA
st Wl ® SF §HA T

PART-C (@ve-a) (Marks : 30
Answer any rwo questions (300 words each).
All questions carry equal marks.
FE A W I TET WA F IW 300 T
¥ afuw 7 @ |t WAl F uF gEm g

4325-A/1,630/555/248 [P.T.0.



PART-A
(FUE—37)

Ausawer adl questuons.

=1 W oFE 3T Efe

UNIT-1

(geRTE-1)

(1) Detine Labour Market.
q9 qISR R gRwiwd sifsg)
(1) Wiiat 1s meant by Absenteeism 7

AR G oA e ®7

UNIT-II
( ZeRTE-11)

(1) Define Rationalization.

fa=piFvm = gfiyifag sfsa)

(vt What do you mean by Personnel Management ?

FEF Ta=F 9 H\9F] 5@ qegd 20
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UNIT-I11

(gwTE-11)

(v) What are the types of wages

Tagd faad wERR wI €T B7

(vi) What are Wage ditterentials ?

UNIT-1V
(gHTE-1V )

(vii) Define Trade Union.
(viii) What is meant by Indusurial dispuates ?

strenf faael 9 3 acd 27

UNIT-V

(SHE-V)

(ix) What are Safety nets ?

LSRG I M= B B s R
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rotipe o httd labour.

T o gtrsarfgs

PART-B

( @roz—a )

NI IT-i
( §%Ti-1)

1 aoss T ie s Mdaning. fdiure and scope of Labour
i VretdsiioaaTS (/2.“;&4)
O EE OE R miEl, TEE

, TEWTE AT & A AU F oA

boeoboasy che noture and characteristics of Labour market in
wes eleping countries.

3
LA 2% H O9H AT w1 Wehia den fawraarsi
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UNIT -1F
( 3#TE-1)

Bt are tie causes of Poverity 2 Also suggest measuares to
. YIONT Poverty, (6.4)
VeonTEr F Eg I w14 8F fArEa R\ % Teu sl
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5. What ure the types of Ridionatizoten ¥ Also deserilic s
merits. Dy
faFTH0 &% TEE A TOT T IO FTAU

UNLEF-1iS
{ Z&3-111 )
6. Explain the concepts of Nuainein: vz Livins Wlnae i

Fair wage. (4. 3.3

qO THCH . A Wigd Aav v owrroad oarme
EN A :

#1 faa=T =i

7. What do you mean by Bonus ? Fapiarn the diodera sl RIE
of bonus. 4.0

AE W 9w 1 ARWE 87 4= w1 shesfTs oremm
&1 faa= EF:]!‘ELU

UNIT-IV

(3WHTE-1V )

8.  Analyse the theories of Labour mo ement. 1
g7 TR w® fagmn w1 faEerer s
Y. What are Labour unions 2 Cridcalls caalyse the role of
labour unions in the present econumic ~cenario in hidia.
(1.6
59 HY @ T ¥7 WA R omEys T w thevm § oam

4325-A/1,630/555/248 5 [F. T .




UNIT-V

(3EE-V)
0. Wit shost notes on the following ¢
v Cledd Lastbow (5)
fhr Need Tor SSidty Sats, (5)

ey odfarm fewforal fafa -

CHFD EF A
() RS WA T STEIAE AT

11. MWhat do yvou mean by Labour flexibility 7 What measures
huve been tuken to impart flexibility in labour market in
Lindea 2 (4,6)
ST I ATEYTEET | 379 ¥ §EEE € 9YRG H oW 9QNR
¥ eI a9 F fAu W I9E AT @2

PART-C
(@US-9)

UNIT-I
(wamTE-1 )

s
"-v

What is mewit by Demand and supply of lubour ? What
fractors auttect demand and supply of labour 7 (5,100

qu 7 41 " 5T W N @ewd 87 #R & =9 F g fEe
FTE = wwaa B €7
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13.

14.

15

UNIT-t1

(FHB-11 )
Write a critical note on "Employnient and Developument in
relation to demographic dividend. (13,
SHATRE! A9 & T4 § U0 5 008w adlaams
fewulr fafag

UNIT-Iil

(Z=E-111 )
Distinguish between Money wuge and Real wuge. Explain
the factors that affect real wage. (3.10)

TfsE wogh 9 AElaE AW ¥ oug #ifwu srAtw
AT H1 YA FE T FEF H AVE FI)

UNIT-1V

(FFE-1V )
Discuss the importance of concitiation and arbitration in
the settlement of industrial disputes. P T

AEtTE HEA F MR § weem aar vt F ones
%1 fagga i
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UNIT-V
(Z&HTE-V)

the State policies with respect to social
(15)

1o. Critic ally examaine
> ~

security in India.

e T wgea = TRy § WER TS AT

H:«?T:—F':\' HITSTQ )
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